X

1558032 HAA (¥4 MZE, S/W)  35%
1558027 Z=H (G M= S/W) 25%
1858018 LM & (S/W) 40%



S/w — PID Controller
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S/w — PID Controller Eld 0.002
= 0.01
dt = 0.1

ex_sum += e.x

ey_sum += ey

P =061 p_cx = kp*e_x
] p_cy = kp*e_
I = Dbbl i_ox = ki*(ex_sum*dt)

i_cy = ki*(ey_sum*dt)
D = o0l
d_cx = kd*((e_x-eo_x)/dt)
d_cy = kd*((e_y-eo_y)/dt)
—_ o >
dt = ol £ tHol3H HIAL
BOX = e.X

eoy = ey

PID_x = int(p_cx + i_cx + d_cx)

PID_y = int(p_cy + i_cy + d_cy)

ax -= PID_{
ay -= PID_y



S/w — Python Thread
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S/w — Thread
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S/w — Thread

Main thread= A 2] Al oA 2
Queue Z Ak % 3H error 7 =l ol &
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e_y
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S/w — Thread

Sub thread: Queue Z error % 2 BEolk PID Al oA




H/w — LED
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H/w — LED
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